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NS
is Rs.20. (8 M+2 M=10 M) |
- his section will score higher marks than those

0 students in his section is 22.1, and the
cagues’ sections 1s 18.8, and the

(10 M)

(b) Estimate the likely demand when the price

laims that students
score for O
for 40 of the coll
laim be supported?

6. Princ | |
Princeton school science teacher ¢

In his colleague’s section. The mean science
standard deviation is 4.8. Them

standard deviation is 8.1. At @

ean science Sscore
0.05. can the teacher’s

9 mice, all with an advanced stage of disease arc

ill arrest leukaemia;
| times, in years from the time of the

?+ T'."l ﬁmi out a new cerum w
e treatment and 4 do not. Surviva

selected. Five mice receive th

experiment commenced as follows

[ Treatment 11--] L] _-_ 93 1.4 4.6 0.9
No treatment | 1.9 0.. 2.8 3.1

iy

-

¢? Assume the two populations to be
(10 M)

At 5% level of significance, can the serum be said to be effectiv
normally distributed with equal variances. (Use t- test for two sample same variance)

S An urban community would like to show that the incidence of breast cancer is higher in their area
thén in a nearby rural area (PCB levels were found to be higher in the soil of the urban community).
If it is found that 20 of 200 adult women in the urban community have breast cancer and 10 of 150
a_c'lullt women in the rural community have breast cancer, can we conclude at the 5% level of
significance that breast cancer is more prevalent in the urban community? (10 M)

g‘ y
Two random samples were drawn from two normal populations and their values are given below:

; g: 66 73 80 82 84 88 90 92
66 74 78 82 85 87 92 93 95 97

s

0. The marks '
of 8 students of a class in Mathematics, out of 50 is given below:

Students ] 3
3 4 5
6

Marks 38 42 43 50 = 2 7 3

52 50

Test the hypothesis that the variance of the

ulation i :
mean of the population is imkagwn. popuiation 1s 48, assuming the population is normal and

> Thﬂ E?E,ragﬂ numhem Df hﬂm gtudmts (l ﬂ M)

given below: spend studying for classes each day in a high schoo
ol is
g 0-2
resher’s hrs

| Seniors 76 2‘144?5“rs 46hs

average numbey of he ‘\_

hours dependent on the type of student? Use 19, —\114;\__

: 0
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watch, even in AL
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General Instructions if any: : . YES
.' 1. “fvseries” -non Programmable calculator are Pﬂrm'"E:h; and chi-squa
2. Reference tables permitted : YES (Z-table, (-table, JEtl ==
Marks (10% 10=

re table)

100 Marks)

Answer any TEN Questions, Each Question Carries 10

in 6 tests:

ents Ravi and Hashina

1. Following are the marks obtained, out of 100, by two stud

[Ravi  [48 |50 54 46 3
| Hashina | 46 44 43 L I =

(10 M)

Find who is more intelligent.

200 difficult True/False

2. The ¢l -
class has a question bank consisting of 300 easy True/False questions,
hoice questions. If a

questions, , : _ 3
qucstion 25 j;i ':'ﬂ;-‘f’ multiple choice questions and 400 difficult multiple ¢

2 C :
gucstion siven it = r‘rﬂf raﬂdﬂm_fmm the question bank, what is the probability that it will be an easy
at 1t is a multiple-choice question? (10 M)

3. The probabili
ility th :
hive conitrac tgi W;:L I:;:;spjmﬂf recovers from a rare blood disease is 0.4. If 15 people are known to
Isease, what is the probability that (i) at least 10 survive and (ii) from 3 to

8 survive?
(10 M)

4. C
. n;nptin: If.lﬂ rank correlation coefficient fo
In the English and Mathematics :

!rf;uﬂe”?s R E 3
M::Jf: 20 English | 1501500 28 142 > s 1 g
Al 40 40
ZMathEmaﬁ;;s 30 50 30 20 ?g 20 80
| ' U 60

Also state the graphical interpretation.

szﬂﬂﬂii) [ 10 W .
oun
/d 40 38 12 6 | o)
emanded 43 45 37 15
! \ . \ 43_""---.

2) Eeri ;
(a) Estimate the linear regression line y on x




’

- gre selected for a weightless program. Perform a one-way ANOVA to compare the e
' =

gifferent groups at 5% level of significance.

rhree different types of exercise namely aerobic, strength training and yoga for three dice
”::- L ik
“Ent 1{;5.-':.-311?,?;.

N o

" ".'L‘lﬁ.r oo

'EE_L;E _I_i:‘{crobfc) 8 10 9 e G
:‘EE-‘”P 2 (Strength training) 6 7 5 8 \ _j;-uﬂ
ETDEES (Yoga) 4 5 3 6 \ A
(19 M)
QP MAPPING
f
: Module PO PEO PSO |
No. | F
. o. | E/A/T Number | Marks BL CO Mapped S nied  Manped | Mapped
)] E ] 10 155 1 1 £ S
| T 2 10 2,5 1 B 3
.3 k 3 10 2! 3 2:3 1: 2: 3 5 -
3 | A 4 10 39 2.4 =3 - -
:' E 4 10 3’ 5 I 2:4 1: 3 - -
' A 5 L 10 1235 4,6 1,3,6 N L S
A 5 10 1,3:5 4"6 l 1:3:6 | - = I
? J‘ 5 10 1’ 3’5 4‘-‘6 1: 3:6 - -
o 610 Y B - B TE I 5 —



